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Setd :47174_92 13Aug18_Batch2 D E
Section 1 - Paperl-General English

1) Choose the correct answer:
The doctors won over the entire town by their
treatment of all the patients.

violent

0 Techofworld.In

unkind

2) Choose the correct answer:
The climate was and pleasant.

A) windy
B) cool
C) hot
D) humid

3) Choose the correct answer:
Sometimes you come a good book in the flea
market.

5) Choose the right option to fill the blank:

The school was situated on the opposite bank of the river
and the students had to swim the river to getto
the school.

A) through
B) across
C) by
D) along

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

Section 2 - Paperl-Education and General Awareness

6) Which of the following properties is responsible for a water
droplet to assume spherical form?

A) Capillary action
) Compressibility

) Viscosity

)

B
G
D) Surface tension

6) 9919 3 60INRNIQ QT 6751 AR FYRYS 69 YIGER AN
265 ?

7) National curricular framework, 2005 has drawn attention
to which of the following curricular areas in addition to
language, mathematics, science and social sciences?

A) work, arts & heritage crafts, health & physical
education, and peace

B) S.U.P.W. & craft education, dance & drama
C) subject teaching, health, arts and literature
D) life skill, arts & literature, dance & drama

7) QI91 TI0YGH 6TFIEIR, 9 008 QITI, IEIG, FRIR 6 AAIFH TR
Q671G GRG0 694 UI0Yge &0 gF Iedq ?

A) Qidy, a913-3004e998 IRYBAIQRRIAI, 1L°9IE
B) 42.9.4. @qpegerddl, goueRIce

C) eadgRIe, Y, RIBAIERY

D) SI906aIaaRI8ATeY, QEI8RIeR

8) Who was the Chairman of the committee on emotional
integration organised by the Central Education Ministry of
India in 19617

A) Dr. Sivanand

) Dr. Sampurnanand
) Dr. Sachidanand

)

B
C
D) Dr. Satyanand

8) 196162 WIGGR 62518 Al ARIGA TR 2EATY LURIAR
@208 @05a g @9 gem ?

A) @ dore

B) @ Qgdier
C) @. 95QIaQ
D) @. 4ouIge

9) Which former Prime Minister of India conceived the idea
of Jawahar Navodaya Vidyalayas?

A) Jawaharlal Nehru
B) PV Narasimha Rao
C) Raijiv Gandhi

D) Indira Gandhi

9) RIGHR 674 JLOR QIRFIR! GILR FERINEA FMIRA FSRIIAIR
afean aeem ?

A) SRILANIN 659
B) 9@ fade qI6
C) Qlgle @

D) @Gl QI

10) The main constituent of sand is:

A) Silica

B) Oxygen
C) Iron

D) Potassium

10) QIRG 8N QANSE 6268:

atel
Lol
2l
FIde
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11) As per the Indian Constitution, the President before
entering upon his office, shall take an oath in the presence
of:

A) Chief Justice of India

B) Vice President of India

C) Attorney General of India

D) Comptroller and Auditor General of india

11) QIReR AR AP, YA VPR Jed Al 4Ig el
QTR G198 A0 FOE:

A) QQGQ RIS TG

B) Q066 29aIgas

C) Q1969 29E 6a6aaIR
)

D) QIoee A9 6Rd Goae

12) The Wood's Despatch of 1854 made certain landmark
recommendations in the Indian education like establishment
of universities for higher education. It is also known as:

) The Charter of King John of England

) The ‘Magna Carta' of Indian Education
) The 'Renaissance’ of Indian Education
)

A
B
C
D) The Charter of Queen of Britain

12) 1854 @ 9g 62991] a9 49 AR F9FuRagFe 9dal adal

OF eIes1a SRIeR A0 AIeMen YUIRAYE SRR | SIel AR
608 QIR 9AGE?

A) °Rg6 AT 8 & AR

B) @I0gig d9I0 Q29 49% QI AIRIQIST
C) WIe9IY I9IR ‘FeRITRS!

D) §69Q Q&iT dee

13) Who among the following philosophers defined political
science as 'that part of social science which treats the
foundations of state and the principles of the government'?

A

) R.N. Gilchrist
B) Robert Nozick
C) Jeremy Bentham
D)

Paul Janet

13) FORYS QEFRAIRE UG &9 QIFATE §8IRg AN FRIGA
2°8 QIR QIER 99921 ¥9° ARRIeE FI9R GO 6ak QdR!
@Qgem ?

A) 2I0NQ. oNYR
B) 99% 67I3]

C) 6969F 6926
D) dn 91699

14) The objective of this award is to provide an opportunity
to carry out the advanced studies and research in
Humanities and Social Sciences including languages in
Indian Universities/Colleges/ Institutions. Identify this
award.

A) Mahatma Gandhi Postdoctoral Fellowship In
Humanities And Social Sciences(Including languages)

B) Dr. Baba Saheb Ambedkar Postdoctoral Fellowship In
Humanities And Social Sciences(Including languages)

C) Dr. S. Radharkrishnan Postdoctoral Fellowship In
Humanities And Social Sciences(Including languages)

D) Atal Bihari Postdoctoral Fellowship In Humanities And
Social Sciences(Including languages)

14) 4T JQIUQR AER4FY 6208 QUGS

TN/ AERS/FVIQAIR AINFER NIV AEAE IR TFIQ T
RUEA GOF IR G FERTEI QIR YT GAIF 90! | 9@
JOURT @4 866 7

A) 91219 9IS 6QI8L6RIAUR CTENINY A7 FIAIHTR 8 cAIT2IN
AR (QIGI AEAS)

B) @. Q9 Q6LQ LSRR 6UIRRERYAUM 6TEMITY AR
INIFGTR ¥ 621T2IR ARNEAY (QUV AEFS)

C) ©.44. QRIgAR 6QI8L6RIQIn 6T6MIA BF YAIFTR 98
caId2IR ARREAY (T AEAR)

D) 29 fQIQ1 601806R)AIR 606MIdd 0 QIAIFER 18
6QITTIR ARREAQ (QUVI AEAT)
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Section 3 - Paperl-Reasoning

15) If THOUGHT is coded as SGNTHIU, then how is
SEVENTH be coded

A) RDUDOVI
B) RDUDOUI
C) RDUDOUJ
D) RDUDOUH

15) G THOUGHT g SGNTHIU Q6% 691Q 99 @UdIag, 6961
SEVENTH @ @9@ 62ie 93 aalde

A) RDUDOVI
B) RDUDOUI
C) RDUDOU.)
D) RDUDOUH

16) If TURMERIC is coded as RUTEMCIR, then REVIEWER
can be coded as

) VEERIRWE
) VEREIREW
) VREEIREW
)

A
B
Cc
D) VEREIRER

16) @@ TURMERIC @ RUTEMCIR ®I6@ 621@ §28 QI8
6669, 6662 REVIEWER g @03 6318 §9 99Ide

A) VEERIRWE
B) VEREIREW
C) VREEIREW
D) VEREIRER

17) First two words are related in a certain way. Similarly,
3rd and 4th are also related. Find the 4th word from the given
alternatives.

Country : SriLanka :: State : ?

Goa
Coimbatore
Raipur
Mumbai

)
)
)
)

A
B
C
D

17) 929 Q0% &9 U@ 749 635 ARG 26T | 2ged NS N6k 9e°
¥el el Aqfe 268 | gen Fee Frg 42 9e6 /8 gag |
6948 : gimea! : Quay: ?

A) 6alI2il
B) 681MQI9R
C) QIagea
D) a1

18) What is the next number in the given series?
29, 261, 522, 4698, ?

A) 9193
B) 9098
C) 9294
D) 9396

18) QL8 7160 2Q1 A°HIGFTR QRN THIT @6 629 ?
29,261, 522, 4698, ?

A) 9193
B) 9098
C) 9294
D) 9396

19) What is the missing number in the given series?
961, 31, 1024, 32, ?, 33



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

19) g9 G916Q @ &JQI A°GMIT @6l 265 ?
961, 31,1024, 32, ?, 33

A) 1025
B) 1036
C) 1049
D) 1089

20) What is the missing number in the given series?
62 31,24 2¢, 7. 25

A) 47
B) 46
C) 53
D) 58

20) 998 99169 @ 291 AT Q) 263 ?
62, 31, 54, 27, ?, 23

A) 47
B) 46
C) 53
D) 58
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Section 4 - Paperl-Teaching Aptitude

21) Which of the following agencies is the first agency of
education for learner?

A) School
B) Peer group
C) Society
D) Family

21) FIRYE FIQ 6066 dRIdT QIR g2 91 QI ?
A) QIR

B) Qien 6qIg1

C) Q9ig

D) ddqia

22) Two students are fighting with each other. As a teacher
what should you do?

A) Suspend both the students

B) Give them corporal punishment
C) Detain both the students

D) Counsel both the students

22) Q0 @dl 819 L9 F1JIE6R IR IR 62988 | 964 d9
RIEQ BIAS @8 @A AFQ ?

A) QR0 819 GR9e At6e
B) 666G Q0@ 98 6069
C) Q09 8I9T 20 QY6R

D) @99 8195 9XIR6S

23) When one uses the principles of science and
technology into the techniques of education, the process is
called

A) Education in Technology
B) Educational Technology
C) Innovative education

D) Operational education

23) 65160660 @66 QLR B 6TERIEMTA ANLG VIR V1560
QUG K69, 69T YPaIg K6 QI ?

A) 696QIERITER Sl
B) 4Q10% 656qI6RIG
C) g@qe dal

D) QQQIeal Gl

24) Taking a test after completing a chapter is a way of

A) introduction
B) measurement
C) testing

D) evaluation

24) 64N ZIG AQQ T6Q YIY KRG RFG K QLI ?

A) Q9%

B) a@

C) aaIssl
D) Riee

25) Who among the following is the main supporter of
individual aims of education?

A) J.S. Ross
B) Aristotle

C) T.P. Nunn
D) John Dewey

25) AARYE S4B ArIQ @4 FITIR IR ABY QYARIR AR ?

A) 6249, 6919
B) 2106850
C) §a.aq

D) §Q g
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26) Which of the following is one of the explanations for

UEE?

A) Universal Educational Executive

)
) Universalization of Elementary Education
) United Education Executive

)

B
G
D) Universe for Education Executive

26) GORYS FRIQ 699G LAR Q QYIS F6Q ?

A) USSR 91 geeR

B) glaifie 89 A 1ead
C) Qe 98l gaaa

D) d9l geew AIR 921

27) A Student who is outgoing and very confident and
easily interacts with strangers is called

A) extrovert
B) extraordinary
C) introvert
D) ambivert

27) K66 Qa4iel B4 20GRe Qs A0 dewsa A4 @l
6LIRIEA e° YR ANTYA OIF Q& GRIAIN ?

A) Q@dst
B) 2QrIE

C) zads
)

D) a@wge

28) The Teacher Education Policy in India has evolved

over time and is based on recommendations contained in

various Reports of Committees/Commissions on
Education.All of the following are the important ones
EXCEPT

A) Acharya Ramamurthi Committee
) Chattopadyay Committee

) Kothari Commission

)

B
c
D) Sarkaria Commission

28) QIR96R ANAFEA & AR 49 916 G806 62108 @ J9l A6
e SFiS/efigne A6TIT6R 291 991 R06a 12! 94638 |
G169 gQ1 6aLESITY QI 6a6M 2R 4G WAIN GRRgE ?

A) 2RI QIAF el /A5
B) 96516219 @6F
C) 621011 @Fiee

D) QeQIG2 afige

29) Which one of the following teaching tactics is adopted
in Signal learning structure?

A) Helping in discriminating one category from another
B) Presenting chain before the students

C) Help the learner to generalize and build rule

D) Practise correct responses to the mastery level

29) AGRIA FTE LrOIEA AN AUQ 694 FTQIF RAINTG
J26 SQUAIREIN ?

A) 6QITN 69410IQ AREFEY CRRWR ARILY AR
B) 219 99¢6Q ¥R RULIe @6S!

C) Amighg QAIGYRE 6 H9a F0R6R AIRIAY FRQ!

D) @461 3060 o0& 40q gERRIgee aeNa a5

30) According to Tagore which of the folloing methods was
the best way of worship

A) Havan ceremony
Idol worship
Rituals

Service of humans

— s —

B
C
D

30) Cl6QIae 2GR QAR AR FIAYS AUIQ 6QAE 65F O8G
263 ?

A) 62IR
B) €& @aIes
C) Quiaad
D) €IeQ 628
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Section 5 - Paperll-Odia Langquage

31) 6RUE Qo2 A9 ?

p) AIREQ
B) GIRIGQ
c) 9EQ
D) Q€

32) ‘AR’ 62 AR L QG

A) aQee
B) age
c) 9ew
D) AQaW

33) ‘@AIgRA’ 69N AA6R 0RO O° CRINR ?

A 92
B) 29R!
c) avaay
D) Q2iEa

0@ @64 glol ¥0d 2AIDew - \NOIE0 @il Jelint FulRioe J9 ?

34) ©

o

A) "‘\?‘:‘.’a
g AcRe

c) &e
D) 2606R

35) ‘P10 Q8QI- 98 QG 22 @’a?

AR 629
CRKIRER 'R INAS AR

CTHINER RIFVIQ REFD PR
p) SCKINER AR LA

A)
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36) S9EG Q0@ 6@ Fqua eal

A) QA9RER
) A9RRR
c) AR
D) QANLRR

¢ ] ’
37) AR’ AQQ e Y AR @'a?

A) QAR
B) QIS
C) €l

p) ed@al

a5 CRUC YRUKQ a0 ?

QIARQAR
QINQIA

A)

B)
o) TOIR

D) AT

39) AHORER QIR QIR N QIRIQ ALE SAUAN?

A) Qe

B) 8|
o) AaRe1
D) @8

o ‘aQl Izl Id a9’ Qe 22 Q'a?

QUEQ O QI
Q4Q QAR @9
cQIY QuE

A)
B)

gea1a Qud
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41) ‘089’ 69U 9RIQ 89 ?

p) S910QQ

B) ece

c) Sake TeChO

p) *@

42) #2622’ 82560 QUIRP ‘PR’ RUAT 6OU 226A QIR ?

A) 2048
B) ¥4
C) ﬁee‘w
p) @@d

43) “99QI9’ 60Q FaQ10 4 6|

pA) QG
B) 1219
C) Al
D) qeia

44) QUG Jeun T6aa4a ?

A) 698 99
B) SIcl @
c) QIfl AeUQIR1

D) Kee *al

45) V191 ARIER G101 99F — 1 AF6Q ‘AR’  § AR QAR ?

p) 291918
B) @
c) 98
D) 2R
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Section 6 - Paperll-Mathematics

46) A circle touches all the 4 sides of a quadrilateral ABCD
with AB=6 cm, BC=7 cm, CD =4 cm. The length of AD is

A) 2cm
B) 3cm
C) 4cm
D) 5cm

46) 4@ 98 6015 9% ABCDA 9718 4 QIgq 94 @@ 6940
AB=6cm, BC =7 cm, CD =4 cm. 6969 AD @ 6344 6068

A) 2cm
B) 3cm
C) 4cm
D) 5cm

47) The price of an article is Rs. 180. It is sold with a discount
of 12.5%. The amount of discount is

47) 6915 G5aQ ) 180 o1 1921 12.5% GIG6R 8 Qaisil,
606Q GR8TR G (Y 6060 ?

A) Rs. 225
B) Rs. 235
C) Rs. 252
D) Rs. 22

48) A quadrilateral ABCD is a parallelogram if angle A =
angle C and

A) angle B = angle D
B) angleB=2angle D
C) 2angle B = angle D
D) AB=2BD

48) ABCD 999% 6208 1@ AF20@ 68 98 691¢ A = 6916 C
qg°

A) 6816 B =616 D
B) 6216 B=26@I6 D
C) 26q16 B = 6q1&1 D

D) AB=2BD

49) If the sum of a number and its reciprocal is 61/30, then
the number is

A) 1/5
B) 5/6

49) AT 66IGN ARl 99° NRIQ QUSFE 9SRINRe ANT 6eag
61/30, 6969 A°HYIT 66

A) 1/5
B) 5/6
C) 7/6
D) 1/6

50) The number of possible subsets of the power set of a set
containing 2 elements is

coz>
N o=

50) 2 & @aIQI@ 2Rl @ 6479 @ WIP 694G Q YAIQY QL9 @ QG
BREC 7

soz2
N PR
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51) For any two sets Aand B, if AU B=AN B, then

A) A=B
B) AoB
C) AcB
D) A=empty set

51) 69 691913 & 67 A 9e° B iR, 9@ A U B=A N B, 6069

A) A=B
B) AoB
C) AcB
D) A=gm6aq

52) What is the H.C.F of 11 and 5?

A) 55
B) 2
C) 1
D) 25

52) 11 8 5Q 91419 6963 ?

A) 55
B) 2
c) 1
D) 25

53) If the sum of the roots of the equation x*- x=a(2x- 1) is
zero, then value of 'a' is

A) -0.5
B) -2
¢33
D) 112

53) 4G A19ad x*- x = a(2x - 1) Q JRa AN 6298 ¢4, 6669
'a’ R 6963

A) 05
B) -2
€} 2
D) 1/2

54) If a = 8x3, b = 2x3x5, ¢ = 3"x5 and LCM (a,b,c) is
8x3?x5 then what is the value of 'n'?

A)
)

)
)

oOw
whhoh

54) 93 a = 8x3, b = 2x3x5, ¢ = 3'x5 9&° R.41.9 (a,b.c) 6208

8x3x5, 606@ N’ Q FAY 6Q6E ?

A) 4
B) 5
g 2
D) 3

55) If a:b = 5:3, then the value of (5a+8b) : (6a-7b) is

A) 12:19
B) 9:49
C) 49:12
D) 49:9

55) 9@ ab = 5:3, 6669 (5a+8b) : (6a-7b) @ MY 6@6S ?

A) 12:19
B) 949
C) 4912
D) 49:9

56) When two circles touch each other externally, how many
common tangents can be drawn to the circles?

A)
)

)
)

oOw
N B wW=
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56) 6d60696R 925 98 J9KAQ Q1Y R6C 4 F0B,996Q 6R6010
ARG QG AFE 629 ?

A) 1
B) 3
C) 4
D) 2

57) Duplicate ratio of 3:5 is

A) 6:10
B) 9:15
C) 9:25
D) 27:125

57) 3:5 @ 9699 2QUIe 6298

A) 6:10
B) 9:15
C) 9:25
D) 27:125

58) What is the interest amount |, if P = principal, R = rate of
interestand T = time period?

A) RT/100
B) PRT/100
C) PT/100
D) PR/100

58) QI QA1 | 6066 621, UG P = ¢, R= QI 21Q 9&° T =
Q9 &y ?

A) RT/100
B) PRT/100
C) PT/100
D) PR/100

59) 2% V3 can be expressed as the surd

A) V180
B) V192
C) V96
D) V190

59) 2% V3  62% AAd1 VIR I FAIVRAGL

A) V180
B) V192
C) V96
D) V190

60) (7¥2 + V3) x (742 - V3)

A) 93
B) 96
C) 95
D) 98

60) (7V2 + V3) x (72 - V3)

A) 93
B) 96
C) 95
D) 98
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Section 7 - Paperll-Social Science

61) How many Cantonments have been notified in India 63) 9R1Q AILIF @l ?
under the Cantonments Act, 19247
A) 52 A) 918 g2
B) 58 B) 99% ge
C) 62 C) 9% g2
D) 46 -
D) 6RIEe ge

61) QUERENE 2IRG, 1924 ZRIAEA VUGGES 6R6FIF RUILREAS] , ) .
64) Who is regarded as the head of the Council of Ministers

AITS QRUIRNRE ? in India?

A) 52 A) Home Minister of India

B) 58 B) External Affairs Minister of India
C) President of India

C) 62 D) Prime Minister of India

D) 46

64) QIQGER (G IRTXQ I8 6 T FEIIIE?
62) Which among the following types of coal is considered

to the best quality of coal with 85 to 90 percent of carbon? A) RIRCQ g2 A]1

A) Bituminous B) wiew GQGG‘?G? QIdIa Azl
B) Peat C) QRS QLT

C) A_nthracite D) @Ueoa g ag1

D) Lignite

65) Which of the following zones lie between the tropics and

62) 85 @ 90 98P QIR Y9I FAMYE FUQ 6AW 6861R I the 66.5 degree latitudes in the northern and southern

Q6B 691R IRAFEE FRUAN? hemispheres?
a5 A) Polarzone
A) Qugela
) g A B) Temperate zone
B) 99 C) Black zone
C) argdieg D) Torrid zone
D) REQIRg

65) 76519 67 ZER, FIF6AL 9e° Aaa G2l @84 cAINISNER 66.5

63) What is the other name of Earth? ogn agrd 2iee 28 ?
A) Blue Planet A) 69 28@
cB:)) (\?Js.f: ;f::tt B) RIG4160I60I8 i5m
D) Red Planet C) Q€ 28q@

D) 49 28R

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

66) Which of the following regions is known as Doldrums?

) The equatorial low pressure belt

) The subtropical high pressure belt
) The sub polar low pressure belt

)

A
B
Cc
D) The polar high pressure belt

66) 691R 951 691R 696 2IBRY QRIAN ?

A) G99 F410 QI 2ER
B) @4 Q1814 4@9Ia 2157

C) 60@ FacRe! AgQID 25
D) 69Q GaeQel gQoid 25a

67) Who was the founder of Mauryan Dynasty?

A) Bindusara

B) Pushyamitra
C) Chandragupta
D) Ashoka

87) 6571<14 Q°8q 9FRIBI F9 26m ?

68) When did Article 21-A and the Right to Ed-ucation (RTE)
Act come into effect in India?

A) 4th November 2002
B) 1st April 2010

C) 15th September 2004
D) 6th March 2009

68) RIAGER 668 IRl 21-A Gl FNISE e (A § @)
QUM 62R ?

A) 4 26898 2002
B) 1@m 2010
C) 15 6Q6A9 2004

)
)
)
D) 6 €ug 2009

69) Which one of the following metals was first introduced by
New Stone Age for making tools?

A) Gold
B) Zinc
C) Iron
D) Copper

69) o7 U2 g6 Adaad Gl QI 696 I J2I6F QYQLS
cineRI ?

70) Which of the following terms can be defined as the
angular distance of a place north or south of the Equator
which is taken as zero?

Latitude

Longitude
C) Prime Meridian
D) Pole

A)
B)

70) GGRGE YR 696 995 YAIEASH O AeR &Y @F86a 30
QIRA 6RIE1A AR, ATl §5Y 69 JQILIN, SITIG IR ?

A) agrs
B) gidel
C) ie e

)
D) 691Q

71) Who among the following appoints the Judge of the High
Court?

A) President of India

B) Election Commissioner of India
C) Prime minister of India

D) Governor
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71) 99 2AIRCA FOINATT @4 F9B T8 2

A) QU ARAT

B) @199a G109 @feea
C) @Iea QuIs Ad1

D) Qeale

72) Which of the following is a type of large dome-shaped
intrusion with a flat bottom formed when magma forces its
way into the overlying rock strata?

A) Lapolith

B) Batholith
C) Laccolith
D) Phacolith

72) 2909 93 909 60 @4 AdeQl , AIgl 60 FaIR ISR
QIFL FIFIA G2l AIGR QP 2 98T F76R IR 68A6 26T ?

A) Rueaimel
B) Qlcalmel
C) aIeaimel
D) iexiqel

73) Which of the following is the INCORRECT reason for the
degradation of potable water?

A) The untreated industrial waste from factories let into the
rivers

B) The movement of saline water into river due to
decrease of ground water level

C) Cutting down trees and desertification

D) The untreated sewage from domestic households let
into the rivers

73) 990 98l 99 JIY F67IP 679 AIRGF AINIB FF AIR OR
Q6% ?

A) QIQEIRI 0IQ QI , QG4 ARG @A & ARSI GG AR A1
q d<l

B) 99& §790Q 214 691 , AF9R RE1 8 , IFAFR FOI &9
flg Fddal

C) 98 Tl 9e° Sen ahal

D) 46 0IQ QIZRYQ , 99° G 98¢ 9)l @ AR Gae
Q65 721 q AR

74) Who among the following freedom fighters was a
prominent leader of the 'Extremists' faction of Indian
National Congress?

A) Dadabhai Naorgji

B) Lala Lajpat Rai

C) Surendranath Banerjee
D) Bhagat Singh

74) G6gliv QUQ B9 QINGTA I 9°6gQ @ Gar 9”1 69IF Q
@66 4UATE 676! gem?

A) QR QIR FIERIR1T
B) AIRI RISTQ Qe
C) qeagaiel ARl
D) oo @

75) Who among the following wrote the national song 'Vande
Matram'?

A) Swami Dayanand Saraswati
B) Bankim Chandra Chatter;ji
C) Subhash Chandra Bose

D) Aurobindo Ghosh

75) @698 Q2IQ &9 "96R AIFRF" QIRIE G116 SRR ?

A) 1 QAFR IS
B) o@¢ 6] Q66
C) 9RI¥ 9F 6219,

D) 20&e 6aig
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Section 8 - Paperll-Science

76) Calculate the work done, if a force of 9 N is acting upon
an object and the displacement recorded is at 8 m towards
the direction of the force.

76) 9% 99 9g QU6Q MY @2 9% 9 N 29 9° 9Ra §96a
Q9199 8 m 24, 6969 QI @ AFAIG AIY @R |

77) Which of the following disease is caused by plasmodium
parasites. The parasites that are spreadto the people
through the bites of infected Anopheles Mosquitoes?

A) Malaria

)

) Filariasis
) Trichinosis
)

B
C
D) Cholera

77) GORYE 699 6216 YPEAIFAF 98e1a1 FIel Q8 62IReN ?
AGle WeRIING A4l QKT TR TIAFIRIGER ERREOIER
Quidelra ?

A) HIERQEl
B) Qloga
C) ageaIa
D) 2@l

78) Which of the following carbohydrates are found in the
primary cell wall of plants?

A) Chitin
B) Starch
C) Pectin
D) Lignin

78) @82Q 9I0AR 6713 @ 260 AER F6Q 696 FIELITREET IR
g97?

A) §5q
B) 714/ 695Q1Q
C) 69&Q
D) 8¢

79) Which of the following is an example of endothermic
reaction?

A) Dissolving of glucose in water

B) Cup of water is added to the quick lime
C) Burning of coal in air

D) Formation of ammonia

79) RRAGE AUQ 6005 I68IEER 9FRIR 99 AQILAE 2166 ?

A) QI§i6a geaIs ferm ARG
B) dagasq @6C Alé AsIAIRE
C) Qg6 6o ol AInE
D) 96152 Q9K

80) Parthenocarpy is a process in which

A) fruit formed with fertilization of ovules

B) fruit formed due to absence of more than one embryo
sac in the same ovule

C) fruit formed due to presence of more than one embryo
sac in the same ovule

D) fruit formed without fertilization of ovules

80) QlsdeRiRId] e 9 Qigl @

A) GI9Q 6QIBEQ SRRIIR 6219 FRR o

B) 49! I9Q 6QIF6a IRRIR 9E | &I 6QIg FUIR TR
C) 49 FI9R 621961 YGRS Ré 69Ig 5@ TR

D) SIO@ 6RIT6Q RIS @ 629 6al] BRIt o
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81) Which of the following microbes listed below, has norole
in acid production?

A) Clostridium butylicum

B) Saccharomyces cerevisiae
C) Acetobacter aceti

D) Aspergillus niger

81) 13q FiKea £q AgE 60 AIREIIR, @ @8 gfial QI

A) 6852 9Enan

B) QAIQI6QEIR6AY 6AQRET2I
C) 26AETIRNE[R 26T

D) 2163609 FIN6SR

82) An alpha particle is made of two protons and

A) four neutrons
B) three neutrons
C) two neutrons
D) one neutron

82) 20T @8R 9RG 616517 6 894 QILIG 690 S0 62IREl ?

A) ¢laG Qige
B) G043 guee
C) Q&G Qiee
D) 691549 QUeq

83) Mass of a body into acceleration is

A) displacement
B) momentum
C) force

D) power

83) 929 9ZQ YEIT Q@E AR

A) FQIag
B) a%<qal
C) o
D) @

WtsApp/Call- 8596976190

84) Boyle's law concludes that

A) at a constant temperature, the pressure of a fixed
amount of gas varies inversely with its volume

B) at the higher temperature, the pressure of a fixed
amount of gas varies directly with its volume

C) atthe lower temperature, the pressure of a fixed
amount of gas varies directly with its volume

D) at a constant temperature, the pressure of a fixed
amount of gas varies directly with its volume

84) ubne Geel 4T daIe6a QUR1e g4

A) 92 /AQ GIOAIgIEa , 9@ FEe CGAIKIQ NI @ DI, 9Q°
M2IQ JOTF FERIN AGANTR VI6R ARIRES g9

B) 42 Q999 CIA7Igka , 1@ Ha8 98aKa GiId @ 8K , 9e°
N2IQ A8TR AIGUER SI6e AGRES 99

C) 4@ F96Q SIAAIGES , 99 G99 adiaKia auiq @ 9Id , 9e°
42IQ 99TR ANIGATR Q6T AR 99

D) @ 3R QI9AIgka , 9@ Haa AGIKQ GHId @ 91T, 98° 92IR
QARTR AAIRAIBR VIS URRES g9

85) Tendrils of Pisum sativum are the examples of modified

A) Petiole
B) Stipule
C) Leaf
D) Stem

85) (I5Q98 NOIR 2IFE 679N 1@ IR GUa AILRE ?

A) 98
B) a&ql
C) ag
D) «ig

86) According to Law of conservation of mechanical energy,
the total mechanical energy of a system remains constant if
only

A) conservative forces are acting on system

B) non-conservative forces are acting on system
C) replicative forces are acting on system

D) constant forces are acting on system
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86) IGe 48 QR4 FANQ AGAIER , 9@ 4INQ AIER 43 FQ
QEY 6LEPERER 6RAR

A) ARG GF 981N AT6a RINY K
B) 212°08¢ 9f g4In1 a96a Q1Y 90R
C) 959a1a® gaIf Q6a Iy 998
D) §Q 9F g9In1 QU6 QIdi @03

87) Which of the following statements is CORRECT with
respect to prokaryotes?

A) No membrane bound organelles are found in the
prokaryotes

B) Cells of the prokaryotes have 80S ribosome

C) Membrane bound organelles are found in the
prokaryotes

D) Cells of the prokaryotes have true membrane bound
nucleus

87) G671l IR 6205 QI YA AG6a OR 27

A) IR MBIG 6RI6Q AT R 2198 TR @ 21
B) 9@ 94819 61969 80S Q61647 el

C) gIf Y814 6RI86Q 6a161T ER1 2IR® 2EF! 21
D) 9} S4819 621960 99¢ SRl 2IRe o4& arg

88) Bacille Calmette-Guerin, (BCG) is a vaccine for which of
the following diseases?

A) Tuberculosis
B) Tetanus
C) Pneumonia
D) Cholera

88) QldA-AINEAG-g6aaR, (34a) FRYC 674 6Q10a SRl 263
?

A) Qs
B) dgamia
C) Geugell
D) 203

WtsApp/Call- 8596976190

89) Which of the following is an example of physical
property?

A) density

B) flammability

C) toxicity

D) heat of combustion

89) 64118 F11IQ 6T 6RITR AR IR AQILRE ?

A) 993

B) Q2ad1e0!

C) faeel

D) 999w a6% ael

90) Select the CORRECT statement from the following, that
involves Sn1 reaction

A) Greater the stability of carbocation, greater will be its
ease of formation from alkyl halide with faster reaction rate
B) Greater the stability of carbocation, greater will be its
ease of formation from aryl halide with slower reaction rate.
C) Greater the stability of carbocation, greater will be its
ease of formation from alkyl halide with slower reaction rate
D) Greater the stability of carbocation, greater will be its
ease of formation from aryl halide with absence of reaction
rate

90) Sn1 QGG Araeq Q0] @3 QIg:

A) QEIEAAR A FQSI 6063 6941 94, ANR YIFQ AL 1LIQ
81e 959 219 FIQ 626G ALRER 92| YLG 62IRAIER

B) QI6QI604R @ S9! 6060 694194, ZINaR SR A2 TR
29 9599 2Q FI0l 6460 ALRER 92! O 62IATIEA.

C) @I6QI694] Q A9G! 6060 6241 4, IRNAR VIAQ AL IRIQ
(129 9Tl 210 TR 6965 ALRER 1T JYE 6T

D) QI6SI6a9] @ 90! 6960 6341 $9 ARNAM NG AL LR
&g 9Pl 210 AGUTGER ATRER 2| 990 SEINTIER
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Answer Key

31.D 61.C
32.8B 62.C
33.B 63. A
34.C 64.D
35.D 65.B
36. D 66. A
37.C 6].C
38.C 63.B
39.8 69.1
40.B 70. A
41. A 71. A
42. A 72.C
43. A 73.C
44.C 74.B
45.D 75.B
46. B 76.C
47. A 77. A
48. A 78.C
49.B 79. A
50.B 80.D
51. A 8I1.B
52.C 82.®
53. A 83.C
54.C 84. A
55. a8 506
56. B 86. A
57. Y. A
58. B 88. A
59.B 89. A
60. C 90. A
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